Subsetting Vectors

x = 54, 10,79, 39, 7, 75, 93, e8,|77, 59, 31, 74, 3, 81
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Subsetting

Start with full data

Select only the parts of our objects we
want.




Vector: one-dimensional object of all the same data type

[1] €7 76 71 46 94 11 83 55 7

Matrix: two-dimensional object Dataframe: two-dimensional
of all the same data type object of any data types
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Vector: one-dimensional object of all the same data type

[1] &0 45 B2 12 4 55 31 46 359 &7

Dataframe: two-dimensional
object of any data types
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Vector: one-dimensional object of all the same data type

1] MMMMMMMMM
Matrix: two-dimensional object Data
of all the same data type object o
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Two primary ways to subset vectors:

Obiject Indices: selecting values by their location in the
object

Logical Statements: selecting only values that are either
TRUE or FALSE in a logical statement



Two primary ways to subset vectors:

Obiject Indices: selecting values by their location in the
object

Logical Statements: selecting only values that are either
TRUE or FALSE in a logical statement

L Each uses the subset operator: | ]
object|...]



Object Indices

(1] 59 Z0 10 WA 53 32 96 35 NA 589 14 13 B¢ 78 44 81 43 75

1 2 3 ... » ... 19 20




Object Indices

[1]

Single indices



Object Indices

0 10 H&a 93 32 96 35 1




Object Indices

0 10 HA 93 |32 B6) 35 |b g3 ' 3|86 |78 44 81|43 |75 § HA

Vectors of indices



Object Indices

10 NA 93




Object Indices

9o 35 NA BYS 14 13 8¢ 78 44 81 43 75 8 HNA




Object Indices

93 3Z Y6 35 NA B9 14 13 86 78 752 8 NA

10 N&A 32 96 35 NA 14 13




Object Indices

93 3Z Y6 35 NA B9 14 13 86 78 752 8 NA

10 NA 32 86 35 NA 14 13




Logical Statements

[1] 59 20 10 WA 93

We can use logical statements to create vectors of TRUE and FALSE, each corresponding
to an element in our original vector.

[1] FALSE TRUE TRUE N FALSE TRUE FALSE TRUE NA FALSE TRUE TRUE FALSE FALSE TRUE FALSE TRUE FALSE TRUE

> is_na(x)
[1] FALSE FALSE FALSE TRUE FALSE FALSE FALSE FALSE TEUE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE TRUE




Logical Statements

[1] 59 20 10 WA 93

We can use logical statements to create vectors of TRUE and FALSE, each corresponding
to an element in our original vector.

[1] TATSE TRUE TRUE

N FALSE TRUE FALSE TRUE NA FALSE TRUE TRUE FALSE FALSE TRUE FALSE TRUE FALSE TRUE NA

> is_na(x)

[1] PAT.SE FRLSE FALSE TRUE FaILSE FALSE FALSE FALSE TRUE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE FALSE TRUE

X[...]



Logical Statements

3 BE6 78 44 81 43 75 &8 HA

(1] Z0 10 NA 32 35 NA 14 13 44 43 § NA

0 NA 93 32 %6 35 89 86 78 44 81 43 75 NA




Logical Statements

(1] Z0 10 NA 32 35 NA 14 13 44 43 § NA

43 75 NA




Logical Statements

Can use any logical vector

"Phoenix" "New York" "Detroit" "Los Angeles" "Baltimore™ "Columbus"™
[8] "San Francisco" "Denver"™ "Miami™ "Chicago" "Houston" "Indianapolis"

sg.miles

[1] 340.5 516.7 NE& 138.6 468.7 0.9 Z17. 32.0 153.0 NA&

For which cities are we missing data!



Logical Statements

Can use any logical vector

"Phoenix" "New York" "Detroit" "Los Angeles" "Baltimore" "Columbus"
[8] "San Francisco" "Denver"™ "Miami™ "Chicago" "Houston" "Indianapolis"
> sg.miles

[1] 340.5 516.7 A 1358.6 4e8.7 60.9 Z17. 32.0 153.0 NA NA 55%.6 36l1.4

1es[is.na(sg.miles) ]

York™ "Miami™ "Chicago"

Which cities are more than 300 square miles in area?



Logical Statements

Can use any logical vector

"Phoenix" "New York" "Detroit" "Los Angeles" "Baltimore™ "Columbus"™
[8] "San Francisco" "Denver"™ "Miami™ "Chicago" "Houston" "Indianapolis"

sg.miles

[1] 340.5 516.7 NA : 80.9 217.2 232.0 153.0 NA NA 599.6 361.

s[is.na(sg.miles) ]

"New York™ "Miami™ "Chicago"

"Phoenix" o5 Ahdgeles B "Houston™ "Tndian apo lig"™



Multiple logical statements

=5 [15.na (507. miles ]

"Dallas"™ "Phoenix" o5 Angeles "Houston" "Indianapolis"

sg.miles > 400]

"Los Bngeles" "Baltimore" NL A "Houston"




